
cDas@ ojlomols g(UID crtl(oroffuGc

calcolo <D<ru<0 2674

CoJCBlo

@1. 6to5tld .roo'ld oJl.

ojlidor" ooscu)" .JcDrojlqos

oiltocc"tooonq. oGGU0\9j&Sd-\6d]i}80

oOocnt Rc oco6m(Tn" orocjlcoilo)ccac?

ol o)'lc)6ruc o (ruo@E(r)o

17.06.2019- d oQorsl gi.

alcio" ocIUoD- oJrluofl

9616)Oo

@n.oe roc9
(cr.Dcu., EcncrD..oa,s/6rnc{q adlooila,m;mqo, gcnoocel6qo

ora,cd o@t)

cruo(Tulc(r)6roro 6cna6cejl crucruroo" oldall.Iil6r6, p(a)d.m

sdl.o)6 p6mcu" p@6cm. pflcccDaso(o)qqQpe 9or6)oP
a'(aogo)d6)" eJGJoc6l6, &QCDCf, colord p,r3 aoele.rcojlcelgi

oarc6rGoj(a14,, crjleloiloel eeiloa,r6.'sa,oo pe coelelcojlaf,

crilernlrdpcmoflmcoirolocor cruooccoldmc.A cna$a,o

ps66B1@oJ@g5rn' oikder'oneo!" .JcDoilqos (CUJ,CD

pGGUoler6,el6aBUA.

gr9 olal)oilalos Gc(,)ocot @ocmogcQo rosos .JoqmD

.J(.aDojl 6Co6ID' ms.iilerc6rcm(oi.

@6
mo,

gq..,n.". (l)fir(IDrtf)C(o)o

(@or@1d)

'I c(/)CGCCDo

1 ap qerrllg

33,000

2 2 "r9 qorig 66,000

3 5 ".ro orenild 1,77,000

10 rp qerrlg 3,66,000

5 5 e,lscrol qcrDle 98,800

6 10 eilscol qerric"i 1,96,400

7 eoclJoj@o ocdtBaDojlni oirejol916cm Paqos 50%

nroocoui 25,000

8 GDcxtrdlouiCro
U.lrnCru.'ocOl n-:r:lOil

50,000

I 6cejlo(ulocgclD-
nilrEoocemo

50,000

om)asc6 5'Jcoo1cru6


